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2ok Prak | SR | EEERE | HEEAR | EERLE | B9 | EEEN EREE
111085 202 8 3 =5 F HL 4 3A ZIRERES
111135 202 11 3 = F HL 4 3A ZIRERES
111083 203 5 3 =5 F HL 4 3A ZIRERES
111058 204 2 3 =5 F HL 4 3A ZIRERES
111118 204 4 3 = F HL 4 3A ZIRERES
111124 204 5 3 =5 F HL 4 3A ZIRERES
111150 204 8 3 =5_F HL 4 3A ZIRERES
111168 204 9 3 =5 F HL 4 3A ZIRERES
111169 204 10 3 =k HL 4 3A ZIRERES
111195 204 11 3 5 HL 4 3A ZIRERES
111207 204 12 3 =5 F HL 4 3A ZIRERES
111231 204 14 3 =5_F HL 4 3A ZIRERES
111241 204 15 3 =5 F HL 4 3A ZIRERES
111257 204 16 3 =k HL 4 3A ZIRERES
111224 204 17 3 =5 F HL 4 3A ZIRERES
111050 205 2 3 =5 F HL 4 3A ZIRERES
111098 205 3 3 =5 F HL 4 3A ZIRERES
111148 205 5 3 =" F HL 4 3A ZIRERES
111176 205 7 3 =5 F HL 4 3A ZIRERES
111181 205 8 3 =" F HL 4 3A ZIRERES
111204 205 9 3 =" F HL 4 3A ZIRERES
111206 205 10 3 =5 F HL 4 3A ZIRERES
111212 205 11 3 =" F HL 4 3A ZIRERES
111223 205 12 3 =5 F HL 4 3A ZIRERES
111229 205 13 3 =" F HL 4 3A ZIRERES
111259 205 16 3 =" F HL 4 3A ZIRERES
111167 205 17 3 = F HL 4 3A ZINRE N ES
111093 206 2 3 =" F HL 4 3A ZINRE N ES
111109 206 3 3 = F HL 4 3A ZINRE N ES
111153 206 6 3 = F HL 4 3A ZINRE N ES
111183 206 13 3 =_F HL 4 3A ZINRE N ES
111219 206 15 3 = F HL 4 3A ZINRE N ES
111240 206 16 3 =_F HL 4 3A ZINRE N ES
111151 207 4 3 = F HL 4 3A ZINRE N ES
111160 207 6 3 [ JiL 4 3A ZIIRER =S
111166 207 8 3 [ JiL 4 3A ZIRE =S
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111214 207 13 3 =2 BT 4 3B ZIRE =4
111228 207 14 3 = iigvg 4 3B ZIRe N =4
111062 208 1 3 = Vg 4 3B ZIRE =4
111065 208 2 3 =2 Vg 4 3B ZIRe =4
111069 208 3 3 = YL 4 3B ZIRe =4
111080 208 4 3 = F BT 4 3B ZIRE =4
111143 208 7 3 = YL 4 3B ZIRE =4
111186 208 10 3 = YL 4 3B ZIRE =4
111198 208 13 3 = YL 4 3B ZIRe =4
111205 208 14 3 = YL 4 3B ZIRe =4
111196 208 19 3 = YL 4 3B ZIRE =4
111200 208 20 3 = YL 4 3B ZIRe =4
111051 210 2 3 = HLL 4 3B LR =4
111177 210 10 3 = F BT 4 3B LR =4
111182 210 11 3 = YL 4 3B LR =4
111221 210 13 3 = YT 4 3B ZIHe =4
111078 211 8 3 = YT 4 3B SR =4
111173 211 13 3 = YT 4 3B LR =4
111187 211 15 3 = YT 4 3B LR =4
111225 211 19 3 = YT 4 3B SR =4
111226 212 2 3 = YT 4 3B LR =4
111108 212 10 3 = YT 4 3B ZIHe =4
111111 212 11 3 = YT 4 3B LR =4
111134 212 13 3 = YT 4 3B LR =4
011046 303 1 3 5 F v 4 3B ZINREZ EA
011246 306 1 3 = YT 4 3B SR =4
011093 306 2 3 =5k BT 4 3B ZIRE R =4
011114 306 4 3 = YL 4 3B ZIRE R =4
011122 306 6 3 = YL 4 3B ZIRE R =4
011227 307 15 3 = BT 4 3B ZIRE R =4
011149 308 10 3 = BT 4 3B ZIRE R =4
011241 308 14 3 = YL 4 3B ZIRE R =4
011204 311 3 3 = BT 4 3B ZIRE R =4
011232 312 18 3 = YL 4 3B ZIRE R =4
911289 305 1 3 = G 4 3B ZIRE R =4
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